
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 3rd Week, 3rd  Day Multiplication and division 
Q.No.1. Choose the correct option: (6 x 0.5 = 3) 
i) Rs. 500 is distributed equally among 50 boys then how much money will

each boy get?  50  500

(a) 10 (b) 50 (c) 450 (d) 550
ii) A teacher has 500 candies in a bag. He gave 5 candies to each students.
How many students gets 5 candies?

 5  5  500 
(a) 50 (b) 100 (c) 150 (d) 200

iii) Amna earn 850 rupees for cleaning a home. If she earns 3 400 rupees,
then how many homes did she clean?

 3 400  850 
(a) 2 (b) 5 (c) 4 (d) 8

iv) A car covers a distance of 1 288 km in 23 hours. How much distance
covered by it in one hour?

 1 288  23 
(a) 55 km (b) 56 km (c) 44 km (d) 58 km

v) If we put 3 250 oranges equally in 25 baskets, how many oranges are
there in each basket?  25  3 250 
(a) 120 (b) 125 (c) 130 (d) 135

vi) Asad bought 6 125 pens that came in packs of 25. How many packs of
pens did he buy?  25  6 125 
(a) 175 (b) 225 (c) 235 (d) 245

Q.No.2. Solve the follwing. (2 x 2 = 4) 
i) 2060 ÷ 23

_________________________________________________________________

ii) 6125 ÷ 10

_________________________________________________________________

Q.No.3. In 45 relief camps, 2 205 blankets were distributed. How many
blankets did each camp get? (1 x 3 = 3)

   2 250  45

_________________________________________________________________

_________________________________________________________________
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